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Quiz 3 Aleebra & Trig 2/21/2003

Each problem is worth 5 points. For full credit provide complete justification for your answers.

. 35— 5t=-30 5
1. Solve the system of equations i by substitution.
r+llt=
7 -5t =-30 £ 3
L x +8E _Hr’ m+3f}4_,llu. = =7 33‘—‘5{%}':—*5
'\-.--"::-.-' = 'ﬂ:l_-'-_{,"_ i -“'_I- rt “.[_ 1
3 ilﬂ L 5! 55 —%.q,i —'3:
= =} 4= ":_::-{_ I oy 3_;?1! I-.:Ir—|'2||_'-Il_:'.il--“l:—.h':| =
= — 3 % -5 _ - %E—‘

=
——
v

LF

S
N‘i 25
o
5
Tl
1
=
Hﬁﬂﬁ )
"\
<

. = ""H'i} I{Ey=32
:'-‘ = . At a L
e A T ) S P

o B

| t.\'l.l.'-.
"y

2. Rewrite -3 < x < 2 in interval notation and graph on a number line.
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